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No. 28 0% e T I EBFHL
1 |[9e—FR— ¢75 L=400 ITAH= (ELR) 100 | 1@ 2,520 RE
2 |Y—TFk—L $50 L=500 EREEMITAHA= (SAEIR) 1200 | 18 3,300 RE
3 |KEERAKARIIFLUE $ 250, 7L—>IUREE 5m 40 | f& 140,000 EN5E
4 |[KEEKBAR)IFLUEHF |P250EFU4 vk 40 1@ 63,000 Fj&
5 |#REMEH B & 850ke/m3 18,000 | ke 150 FE
6 |[KERTUF ®350 FCD 75> 1 H 813,000 E4E
7 |KEARLUF $300 FCD 752 % 1 = 481,000 &
8 |EHREE %355;% (757?7;;,?;)70 SUS 1 £ 1,620,000 &
9 |BHRES %3%)%% (751?7?;,?;)70 SUs 1 = 1,420,000 4
10 |EREH $950 UPSE A FAE 1| & 5,700,000 %3
1 |emes Fdacsoo UFSE! A2 518 1 = 4750,000 B4
12 %ié’:;é?’gﬁ%T?gﬁﬂﬁ RR ¢ 75x 75(VUE FH) 5 1& 33,600 =8
13 %iiggj’ IHETFES |op ¢ 100 x 75(VU% F) 5 1& 36,300 =8
14 %i’zg%?/ OMHETFE@ED |p $ 125 x 75(VUE ) 5 & 59,900 =B
15 %izgé)%w)ﬁ%Tiﬁ(%ﬂﬁ RR ¢ 150 x 75(VUE ) 5 1& 68,400 =B
16 [DCIPERYIYE KE $ 100 % 1931L 10 ¥ 27,400 =8
17 |DCTPERYIYE K ¢ 100 x 1440L 10 Z:S 27,400 =8
18 |DCIPERYIYE K& ¢ 75 % 1852L 10 PN 21,300 =8
19 |DCIPERYIYE KR ¢ 75 % 1370L 10 PN 21,300 =RiE
20 |DCIPRYIYE KH ¢ 100 % 1901L 10 S 27,400 =RIE
21 |DCIPRYIYE KH ¢ 100 x 1823L 10 ¥ 27,400 =RE
22 |DCIPRYIYE KH ¢ 100 x 2275L 18 S 27,400 =RIE
23 |DCIPEYIYE KEH 100 x 1340L 18 Z:S 27,400 =RiE
24 |DCIPZYIYE KH! ¢ 75 x 1000L 10 x 21,200 =RiE
25 |DCIPZYIYE KH! 100 X 1000L 18 Z:S 27,300 =RiE
26 |LEIEE HE ¢ 2844.8 X 19 X 2500 5 VN 3,350,000 =fE
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28 |EEME BE mT—/\— %ﬁiﬁfzz‘i;’iﬁiﬁgé¥§°°) 1 ¥ 2,460,000 =S
20 |mEME E my—/S— O IIN0. 1 X 2,280,000 =g
30 |ZEEE EE BTF—/5— %?823;27’5,‘9"2067 S 3.220,000 =[S
3 |mEEE EE Br—/— %?823;27’5,‘“ 1000 S 1,700,000 =[S
32 fg@mﬁ_fﬁﬁ (@ ©$2844.8 x 19 x 2500 2 x 3,440,000 EiE
33 %tféﬂﬁ_ﬁlii . $2844.8 x 19 X 1943(2100) 1 & 3,210,000 =i
34 (ngffﬂﬁgﬁﬁgﬁ?*&%ﬁ$ﬁ 200 % 75 65 | M@ 43100 E3i
35 fﬂ%fj’ﬁ_m% 350A%7.9T*22° 30" 0” *500L*1547L%500L 1 & 957,000 B4
36 @fﬁﬁﬁfﬁﬁ(xﬁ_ (TF—ff)  |3TOAXTITH1350L 1 A 460,000 4

HMMERE
37 [R5 0459/ RE(RT477F—|350A%7.9T*1000L 1 x 448,000 it

)
38 %@%%?;Eﬁ%@j__ (T —ff) |00A*6.9T*850L 1 A 305,000 g
39 gmj%%ff%:ﬂ% 350A%7.9T*20° 18'16”*1300L*533L*500L 1 & 1,110,000 B4
40 g@%%%ﬁfﬂg 300A%6.9T*90° *1060L*500L 1 X 545,000 B4
41 g@%%%ﬁgg 300A%6.9T*90° *1020L%310L 1 X 506,000 B4
42 g@%%%ﬁﬁ% 300A%6.9T*1320L 1 X 313,000 B4
43 ﬂ%%ﬁﬁfﬂg 300A%6.9T*29° 32'20"*500L*587L 1 X 348,000 B4
44 3@%%3%% 300A%6.9T*29° 32'20"*587L*1300L 1 X 615,000 B4
45 ﬂ%%i’g% 350A%7.9T*1550L 1 & 424,000 B4
46 |ISoTTETa— %%%Q*som mI5vY 2 | & 1,070,000 E4
47 |F5oeTETe— %%%*SOOL mI7Y 2 | & 939,000 E4
48 |HiERIESE ® 350 1 ¥ 400,000 e
49  |[HiEFIESE @300 1 ¥ 353,000 e
» @é«éﬁﬁg@;%ﬁ@% ngfiéf (CH) ¢ 1000 R 438,000 ey
52 |735vT7# 800 E{BEDG (FIK. F45) 1 = 1,500,000 HIE
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53  |LEYBEEE(1 BEIRBEKER) H1300xB800xL2000(A >4 —rA) 200 | f@ 116,000 HEAh
54  |LEYBEEE(1 BEIRBEKER) H1400xB900xL2000(A >4 —rH) 200 | f& 127,000 HEAR
55  |LEYBEEE(1 BEERBEKER) H1500xB1100xL2000(1f >4 —h5) 300 | f& 153,000 HEAh
70—fE:110mmL £ GTERE) .
56  |FENMLALEL %'IJE_:I:TO;;% ,I’Zﬁ % é {“fi'z‘%/cm?’ 1,000 | m3 11,500 T
— BT HE5R S 100kN/m2LL £
57 |y RAIILIN—F T-25 B4000 X H1500 X L1000 4 & 1,560,000 =)
58 |RyIRAIILIN—F T-25 B4000 X H1500 X L1250 1 1& 1,830,000 =)
59 |RYIRAILIN— T-25 B4000 X H1500 X L1750 1 & |REEL EN5&E
60 |RyIRAIILIN—F T-25 B4000 X H1500 X L1500 3 1 1,530,000 Fl&
61 |FAvowyk [Ex40mmil £ EE50kg/m2LL £ 1,000 | m2 5,280 ENGE
62 |EmEIOYs<uk f%f?)i%gokg/mzu‘ﬁ BET7oh—ECEEAER 523 | m2 5610 =8
63 | WK B1000 x H1200 X L2000 128 & 83,400 EH
64 |ZmEKEE B1400 X H1200 x L2000 48 {& 99,200 EFE
07 |RHELI00mm ¢507T—T T A—{FED1— .
65 |BEIAZEFEBIABKE |[Th—IL1ERFE 70 1@ 287,000 &
B1360 X H2200 X L2000
I 3/RHELIS0mMm @50 9T—TI(ILE—{FEDs— B
66 |EEIABEBSBLEKE ThR—IIL1EFE 170 | & 251,000 W
B1390 X H2000 X L2000
7Ij§ BRHL100mm ¢ 509 T—T I )L A—ftED1—
R—IL1EftE =
67 |RERIAFERBRILIKES H200072200 x B1400 x 2000 (H26000D & #4{s A - X i 4 & 376,000 W
&ev)
I/ |RHLI1I00mm ¢509T—TI()LE2—{FED1—
1)1 F 7071_\_”/1@1#% =l
68 |RELABRBRELIKE  |1))00°2400 x B1400 x L2000 (H2600D B - K | © B 390,000 W
#EY)
7{& BRHL100mm ¢ 509 T—T I )LA—ftED1—
R—IL1EftE .
60 | RRIAFRWBRELEKE |1, 10072600 x B1400 X L2000 (H2600 EI - K | 8 B 406,000 L
#enY)
70 ,i\_iﬂjl/$*ﬂ7‘ MRYGAAIL 114 pig4a000 p7E2300 1200 2532 2 & 1,610,000 ity
7 /ifﬂjb**m‘*‘ VIADN T-14 NTE4000 NE2300 £&1200 2533 ARAHvVE 1 & 1,770,000 L=
72 /i\_iﬂj"**”m‘*‘ YIADN T-14 N1E4000 NE2300 £&880 273 A RAvk 1 & 1,300,000 Lz
73 ,i\_iﬂjl/?vx'\_h VIRV 714 BIE4000 PITE2300 FE1500 253 2 & 1.460,000 it
74 /i\_iﬂj"*’“x"*‘ YIANI T 14 RIE4000 PIE2300 EX1500 253 E] ARFAVk 1| @ 1,610,000 e
75 /i\_iﬂj'/**'x"_'_‘ YIADN T-14 NTE4000 N52300 £980 243 & AR Avk 1 & 1,400,000 Wz
76 [PREITLFCAMRYTANIL e 4 miE1700 RIES800 £:52000 4 | @ 396,000 iy
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77 |125BIRYIZRAILIN—k H20xB40Xx L15 &M (ETFEM) 5 & 1,050,000 3
18 |osEIRy s AL ?;).0><B4.0><L1.5 EERER (L&) EEA (TER ’ & 1.120,000 %
79 |osERysZ AL A=k ;rz).o><|34.o><u.5 EERAES (L&) EER (TER ’ e 1120000 4%
80 |FRyOIRAIL/IN—F H2000 x B1500 X L2000 1 & 560,000 E=iE
81 |FRyOIRAILIIN— H2000 x B1500 x L1900 {8l E¥EH 0470 X 450 1 & 719,000 =B
82 |ARyOIRAILIN— H2000 x B1500 x L2000 {8l E¥FH 0670 X 450 1 & 579,000 EiE
83 |IRyOIRAILIN— H2000 x B1500 X L1000 1 & 448,000 =B
84 |IRyOIRAIIN—F H2000 x B1500 x L2000 {8l 2 [ 0380 % 334 1 & 579,000 EiE
85 |RyOIRAILIN—k H2000 x B1500 X L.927/1041 Fr{i4] 1 & 555,000 =B
86 |RyOIRAILIIN—k H2000 x B1500 x L.939/1053 4] 1 & 558,000 E=iB
87 |¥A/Kie 450 X 450 X 690 50 & 19,500 =B
88 |HKRILYER—+ ¢ 75 20 & 77,400 E=iB
89 [HFILHR—K ¢ 100 20 & 89,300 EiB
90 |LEYKER H24x 120 3RYHIL200 1RER 26 & 255,000 &
91 [LEUKER H2.4x 120 3RYHL200 {AIE2EACIB428 X H1050 2 {& 300,000 igad
92 [LEYKER H2.4x 120 5EYHL200 {AIE2EAOB452 X H1050 2 & 300,000 it
93 |LEIKEE H2.6 X L1.639/1.577 3RYHL150 &ifH 2 & 380,000 itad
94  |LEIKER H2.6/2.380 X L2.0 5RYHIL150 KimHlA 2 & 380,000 &
95 [LE!KER H2.6 x L1.998 {Z#£#I 23 & 422,000 igad
96 [LE!KER H2.6 xL1.2 AEA 4 & 549,000 &
97 |LEYKER H2.6 x L1.530/1.496 #1£ 2 & 549,000 &
98 |LEUKER H2.6 X L1.361/1.327 #}£5 2 {& 549,000 &
99  [LE!KER H2.6 x L1.360/1.290 #}A 2 & 549,000 R&E
100 [LE!KER H2.6 x L1.450/1.380 #}A 2 & 549,000 R&E
101 [LBKER H2.6 x L1.540/1.486 #}A 2 & 549,000 R&E
102 [LBKER H2.6 x L1.528/1.474 #1A 2 & 549,000 R&E
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103 [LEKER H2.6 X L1.431/1.493 5RHL150 #HiA 2 & 380,000 it
104  [LE!/KER H2.380/2.6 xL2.0 3RHEL150 KinfiA 2 & 635,000 &
105 [LEKER H2.8 x L1.998 fZ##Y 23 & 441,000 it
106 |LEUIKER H2.8x 1.2 EAEFA 4 1@ 573,000 X
107 [LEIKER H2.8 x L1.444/1477 &l 2 & 573,000 X
108 |LEIKER H2.8 x L1.274/1.308 ##if 2 & 573,000 &
109 |LEKER H2.8 X L1.181/1.251 #fifH 2 & 573,000 X
110 (LB KER H2.8 x L1.271/1.341 #&if 2 & 573,000 &
11 [LEKER H2.8 X L1.403/1.457 ¥l 2 1@ 573,000 &
112 [LEKER H2.8 X L1.391/1.445 &l 2 1@ 573,000 &
113 |2@KE B2000 x H1400 X L2000 [EkRFAH&B500 x 500 2&/T | 107 | {E 164,000 =B
e |emkes ?é,gﬁx H1400x L1000 ERZEF/EhRBIOAR500%500 | ﬂﬂ 131,000 =
115 |omokes Eizggg ><1 I:EJ %?o x1.1801/1829 Fr#tt])/[E kB A &R500 | B 302,000 =5
16 |2@KE izggg ><1 g %?o X 11555/1583 Fr &}t/ & hiz 5 A &R500 1 B 275.000 =
17 |omxe Eﬂzgggﬁ xDH913%02 Zolbzooo JERRBA O ER500 X 500 2% PR ’ e 161,000 =5
s lemxes ?3@9'2; X H1400 x L1827 FR% A/ EhRFA A #R500 X 500 ’ e 255,000 =g
119 |2m@mk B2000 X H2000 X L2000 JEkRRICOI&R500x 500 2&FT | 15 | & 240,000 =E
120 2@k Eﬂzgggﬁ XDH621%02 :4;2000 [ i A O #B500 X 500 2 AR ’ 5 340,000 =2
121 |omokes Eﬁggﬁ xDH525%02 >3<5|62000 JE AR BA O #R500 X 500 2E AT ’ I 340,000 =E
122 |omokes {Ba.fgé)% xDngo%oo x L2000 JEhRBHOER500 x 500 2 ’ I 340,000 =E
123 |omkes E;zé)(())g ><1 k’!lﬁz%)o x L1158/1243 F &Y/ KRB O ER500 1 B 360,000 =[E
124 |omske E;zé)gg ><1 gg)?o x11792/1876 Fr it/ EhiB A #R500 1 B 464,000 =78
125 |omikes E:(Zé)(())(()) ><1 %2;2)?0 xL1792/1874 F&4)/ KRB O &R500 1 B 464000 =[E
126 |omikis E;(zé)(())(()) ><1 %2%)0 X L1447/1529 Fr&4)/ KRB O &B500 1 B 407,000 =[E
127 |2@KEE B1500 X H1400 X L2000 JEkRRIOIER500x 500 2FT | 45 | @ 138,000 =E
128 @k B1500 X H1400 X L1794 ERZ A/ Kk FA A #F500 x 500 1 I 224000 =
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129 (R R—IL TER 70942200 x 2200 x 300 20RO 1 & 879,000 W

130 (R R—IL EE7J 042200 % 2200 X 1800 2AFAO 1 & 1,250,000 W

131 [FRBETXT K- JERR T 0'y472200 x 2200 % 1500 [ E ¢ 900 1 & 1,390,000 gt

132 (R R—IL T/ 7842000 x 1500 X 300 2MABIA 1 & 448,000 W

133 |FEEMELXTUR—IL EEB$J'0v42000 x 1500 X 2100 30BN 1 & 1,190,000 W

134 |FEEHELXTUR—IL EE7J'0v42000 x 1500 X 1200 BHOA ¢ 800 1 {& 611,000 L

135 |FERMITXvTrHR—IL JE R D 042000 x 1500 x 1200 B ¢ 800 1 & 799,000 it

136 (BRI ER—IL TEA 7842500 x 1500 X 300 B ¢ 600 1 1& 501,000 (L

137 (FEMIXTUHR—I BT 042500 X 1500 X 2100 BAE 1700 X 500 1 1 1,380,000 iy

138 |FEEMEMLXToR—IL EE7J'0v42500 x 1500 X 900 1 {& 547,000 W&

139 [FEHEIXT K- [ERR T 0:v42500 x 1500 X 1500 [ E ¢ 800 1 e 1,310,000 gk
INIVITRYD AR B2100*L1700%T200

140 g B0 C1600%600, ¢ 200, ¢ 115 L 705,000 R4
INIVITRYD AR B2100+L2200%T300

4 EkR B ¢ 600, ¢ 200, ¢ 115 1 % 726,000 3c

142 ;E\égzj_kj IARIE B2100%L1400%T200 1| & 530,000 B4
INVITRYD AR B2100%L2200%T300

3 i BEO ¢ 200 1 ® 684,000 B4

144 ;E\,}#E;Tkj TAEM B2100%L1700+T200,B1 01 ¢ 200 R 633,000 B4

145 %;?#y’?xﬁ% %1 l%gﬁ;gzlooom 500 1 o 1 100,000 o

146 %;?#ybxﬁ% ? $1 lz(f)igj;;;;21000>|<|_2000 1 o 1 220,000 o

147 %;};Zﬂ'\v’];’\x% ? $1 Z%gﬂj]?zlooo*u 400 | @ 1 040,000 s

148 %fg;mwxiﬁﬂs ? $1 Z%gﬁa;]?zlooo*uooo 1 & 1 220000 4

149 %;;ZTI'\“J’JXK% ? $1 Z%gﬂj]?zlooom 500 | @ 1 100000 4
INIVTRYD AR B2100%L1500%T200

190yt B ¢ 5504 Z| 1 & 324,000 4
INIVITRYY AR B2100%L1500%T200

BT g B ¢ 4004 Z| 1 & 324,000 4
NILTRYYRAKIK B2100%L700%T200

192 g2 B0 ¢ 5504 Z| 1 & 160,000 E4
NILTRYIZAKIK B2100%L700%T200

153 g2 B ¢ 4004 Z| 1 & 160,000 4
INIVT Ry RIEREM F BFE15 ¢ 11%1400

194 \pcsmiz FoRVRMT L S 7,900 B4

6/7~_—>
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Mo EE IR e T I wE | EBEE
156 :E?!}f‘;;—éj JABRMH Foh—TL—bk, FYb, Dyv— 1 #H 1,300 it
L A Gt e — A 20 R
A N — LA 2900 R
159 ’7"/ bj?jjis fi@ﬁﬁ # [150%50%9 1| & 800 R4&
160 ;}’J [’?7":" TR M22f8 1| @ 200 4
161 |72 REHH M22F8 1| @ 400 E4
162 |[/NLTRy R B i - FEIB ,j: ,;l’,f?ﬁﬂf’%ﬁgfgg ZTH RV I Ry — 1 2 285,000 &
163 (o STty N R
164 |FEBRIL—RY—b $800 BRIk, Ff-Y. BIFISS 1 = 3,160,000 I E
165 |EzEsKiE 1000L FAf57 1| & 500,000 12
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